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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

(a) Which measure of central tendency is

known as positional average?

^

(b) What is the SD of the following values?

7, 7, 7, 7, 7

7, 7, 7, 7, 7
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3. Answer any/our of the following questions :
5x4=20

(a) Find the first four moments about the
mean from the following distribution : 5

ffeights (inch) : 60-62 63-65 66-68 69-71 72-74

Frequency : 5 18 42 27 8

(b) Prove that Karl Pearson correlation
coefficient lies between+1 and-1. 5

C?fS<n CT ̂  +1 ̂

(C)

22A/41

Defme conditional probability. If
P(A) = 0-4, P(B)=0-7 and P (at least
one of A or B) = 0 - 8, find P (only one of
AandB). 2+3=5

%n 1 7^ = 0-4
P(B) =0-7 ̂  P ^ ^
= 0-8 P(A ̂

( Continued}
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(d) A random variable X has the following

probability distribution :

i£)^ <|lij[^<p ^5^ X (31 ^3^ ̂ ll

X  : 4 5 6 8

P  : 0-1 0-3 0-4 0-2

Find mean and variance.

% ̂5j|^ I

9

0-5

11

0-3

(e) Explain the principal steps of a sample

survey.

4. Answer any/our of the following questions :
10x4=40

\s»R

(a) What is dispersion? What are its. various
measures? Find the variance from the

following table :

1% ? 1% ?

Age (years) : 20-30 30-40 40-50 50-60 60-70

No. of persons : 170 HO 80 45 40

22A/41

Which measure is known as the ideal

measure of dispersion? 2+2+5+1=10

1^=14 cm^ cm ̂
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3. Answer any four of the following questions :

5x4=20

:

(a) Find the first four moments about the
mean from the following distribution : 5

V55R 1^=14 mi £f«R

Heights (inch) : 60-62 63-65 66-68 69-71 72-74

Frequency : 5 18 42 27 8

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and -1. 5

C4 ̂  town WtW +1 ̂

-1"^ ̂TTSf^ ®(TC^ I

(c) Define conditional probability. If
P(A) =0-4, P(B)=0-7 and P (at least
one of A or B) = 0 - 8, find P (only one of
AandB). 2+3=5

Tfs#5R ^ I ^ P(A) = 0-4,
P(B) = 0-7 ̂  P A ̂  m W)
= 0-8 P(j4 \5f|^
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(d) A random variable X has the following
probability distribution :

<if5| X (31 ^iR^I

X  : 4 5 6 8 9 11

P  ; 0-1 0-3 0-4 0-2 0-5 0-3

Find mean and variance.

(e) Explain the principal steps of a sample
survey.

4. Answer any four of the following questions :
10x4=40

2f^ :

(a) What is dispersion? What are its. various
measures? Find the variance from the
following table :

"TO i% ? c^tn^ 1% ?

Age (years) : 20-30 30-40 40-50 50-60 60-70

No. of persons : 170 110 80 45 40
1775^

Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10
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(b) Distinguish between positive and
negative correlation. Find the rank
correlation between X and Y from the

following table :

X ̂  C3^ Wiw

X  : 15 19 13 10 17 22 8 13 12

y  : 21 20 23 18 19 25 11 16 15

Analyze the result. 3+5+2=10

(c) State and prove Baye's theorem of
probability. An urn contains 10 white, 6
black and 3 red balls. 3 balls are drawn

in succession. What is the probability
that they are drawn in the order of
black, red and white if the balls are not

replaced after each draw? 5+5=10

W  I

10^ 6^ ^5]]^ 3^
^  fvafnljl ̂  'SRT

af^cfSl ■'5RH <l<y|c'5l
^!S1 ^5(1^
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(ii) A problem of chemistry is given to
three students A, B and C whose

chances of solving the problem are
and i respectively. What is the

probability that the problem will be
solved?

(Hi) Under what conditions Binomial

distribution tends to normal

distribution? 3+4+3=10

(i) ^ WT ̂

I

(ii) Wm A, B ̂

>tSlR^al

(Hi) CTO Cffi RTWs 4^ Rl*rR®I
'=iR?=^ "5? ?

^ Explain the different types of sampling
with their relative merits and demerits. 10

RR)fl

^IWIHI I

★ ★ ★
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